2-1 Notes.notebook September 21, 2012

Warm Up

1.  Find the length of a segment with endpoints (1, -3) and
(_29 '7)

2. If M(4, -3) is the midpoint of RS and the coordinates of
R are (8,=2), find the coordinates of S.

(5.3 (4-3) (o -9)

3. Find the next three numbers in the following sequence:

152 28

0,1,3,6, 10,
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Ex 1  Describe the pattern in the numbers and write the
next three numbers in the pattern.

1000, 500, 250, 125, ...

Ceocl. H i %_ pfevioVS‘#'
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Ex2  Describe the pattern in the numbers and write the
next three numbers in the pattern.

1,5,9,13, .. "7,7’.95
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Ex 3  Given the pattern of triangles, make a conjecture
about the number of segments in a similar diagram
with 10 triangles.
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Ex.4  Make a conjecture about the number of ways to connect
seven noncollinear points.
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Ex.5 What conjecture can you make about the product of any
two odd numbers?

Av\$w<\f Wéi” 5.7.___3:)
be dé \. “’f—‘q

Ex 6  Find a counterexample to disprove the conjecture:

Supplementary angles always form a linear pair.

< / >
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Ex7  Find a counterexample to disprove the conjecture:

If the product of two numbers is positive, then the
two numbers must both be positive.

-3.-3= 9

If the product of two numbers is even, then the two
numbers must both be even.

2l 4942
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